

①

$$\begin{array}{r} 2 \\ 21 \overline{)42} \\ \underline{42} \\ 0 \end{array}$$

②

$$\begin{array}{r} 3 \\ 65 \overline{)195} \\ \underline{195} \\ 0 \end{array}$$

③

$$\begin{array}{r} 7 \\ 5 \overline{)35} \\ \underline{35} \\ 0 \end{array}$$

④

$$\begin{array}{r} 8 \\ 17 \overline{)136} \\ \underline{136} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 2 \\ 12 \overline{)24} \\ \underline{24} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 4 \\ 65 \overline{)260} \\ \underline{260} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 30 \\ 5 \overline{)150} \\ \underline{150} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 17 \\ 2 \overline{)34} \\ \underline{2} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 2 \\ 11 \overline{)22} \\ \underline{22} \\ 0 \end{array}$$

①

$$\begin{array}{r} 1 \\ 14 \overline{) 14} \\ \underline{14} \\ 0 \end{array}$$

②

$$\begin{array}{r} 186 \\ 2 \overline{) 372} \\ \underline{2} \\ 17 \\ \underline{16} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

③

$$\begin{array}{r} 4 \\ 47 \overline{) 188} \\ \underline{188} \\ 0 \end{array}$$

④

$$\begin{array}{r} 54 \\ 5 \overline{) 270} \\ \underline{25} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 9 \\ 87 \overline{) 783} \\ \underline{783} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 34 \\ 24 \overline{) 816} \\ \underline{72} \\ 96 \\ \underline{96} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 1 \\ 83 \overline{) 83} \\ \underline{83} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 48 \\ 4 \overline{) 192} \\ \underline{16} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 4 \\ 37 \overline{) 148} \\ \underline{148} \\ 0 \end{array}$$

①

$$\begin{array}{r} 14 \\ 35 \overline{)490} \\ \underline{35} \\ 140 \\ \underline{140} \\ 0 \end{array}$$

②

$$\begin{array}{r} 327 \\ 3 \overline{)981} \\ \underline{9} \\ 8 \\ \underline{6} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

③

$$\begin{array}{r} 6 \\ 14 \overline{)84} \\ \underline{84} \\ 0 \end{array}$$

④

$$\begin{array}{r} 3 \\ 21 \overline{)63} \\ \underline{63} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 42 \\ 22 \overline{)924} \\ \underline{88} \\ 44 \\ \underline{44} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 3 \\ 12 \overline{)36} \\ \underline{36} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 9 \\ 50 \overline{)450} \\ \underline{450} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 1 \\ 42 \overline{)42} \\ \underline{42} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 36 \\ 4 \overline{)144} \\ \underline{12} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

①

$$\begin{array}{r} 103 \\ 8 \overline{) 824} \\ \underline{8} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1 \\ 27 \overline{) 27} \\ \underline{27} \\ 0 \end{array}$$

③

$$\begin{array}{r} 104 \\ 5 \overline{) 520} \\ \underline{5} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

④

$$\begin{array}{r} 77 \\ 9 \overline{) 693} \\ \underline{63} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 57 \\ 3 \overline{) 171} \\ \underline{15} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 2 \\ 37 \overline{) 74} \\ \underline{74} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 110 \\ 8 \overline{) 880} \\ \underline{8} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 59 \\ 6 \overline{) 354} \\ \underline{30} \\ 54 \\ \underline{54} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 8 \\ 96 \overline{) 768} \\ \underline{768} \\ 0 \end{array}$$

①

$$\begin{array}{r} 16 \\ 35 \overline{) 560} \\ \underline{35} \\ 210 \\ \underline{210} \\ 0 \end{array}$$

②

$$\begin{array}{r} 3 \\ 13 \overline{) 39} \\ \underline{39} \\ 0 \end{array}$$

③

$$\begin{array}{r} 25 \\ 3 \overline{) 75} \\ \underline{6} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

④

$$\begin{array}{r} 13 \\ 32 \overline{) 416} \\ \underline{32} \\ 96 \\ \underline{96} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 2 \\ 6 \overline{) 12} \\ \underline{12} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 21 \\ 5 \overline{) 105} \\ \underline{10} \\ 5 \\ \underline{5} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 4 \\ 82 \overline{) 328} \\ \underline{328} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 131 \\ 3 \overline{) 393} \\ \underline{3} \\ 9 \\ \underline{9} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 5 \\ 99 \overline{) 495} \\ \underline{495} \\ 0 \end{array}$$

①

$$\begin{array}{r} 3 \\ 67 \overline{) 201} \\ \underline{201} \\ 0 \end{array}$$

②

$$\begin{array}{r} 2 \\ 33 \overline{) 66} \\ \underline{66} \\ 0 \end{array}$$

③

$$\begin{array}{r} 6 \\ 34 \overline{) 204} \\ \underline{204} \\ 0 \end{array}$$

④

$$\begin{array}{r} 5 \\ 66 \overline{) 330} \\ \underline{330} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 234 \\ 3 \overline{) 702} \\ \underline{6} \\ 10 \\ \underline{9} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 5 \\ 3 \overline{) 15} \\ \underline{15} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 11 \\ 4 \overline{) 44} \\ \underline{4} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 4 \\ 21 \overline{) 84} \\ \underline{84} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 5 \\ 19 \overline{) 95} \\ \underline{95} \\ 0 \end{array}$$

①

$$\begin{array}{r} 59 \\ 9 \overline{) 531} \\ \underline{45} \\ 81 \\ \underline{81} \\ 0 \end{array}$$

②

$$\begin{array}{r} 4 \\ 74 \overline{) 296} \\ \underline{296} \\ 0 \end{array}$$

③

$$\begin{array}{r} 7 \\ 96 \overline{) 672} \\ \underline{672} \\ 0 \end{array}$$

④

$$\begin{array}{r} 64 \\ 15 \overline{) 960} \\ \underline{90} \\ 60 \\ \underline{60} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 66 \\ 4 \overline{) 264} \\ \underline{24} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 22 \\ 20 \overline{) 440} \\ \underline{40} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 77 \\ 7 \overline{) 539} \\ \underline{49} \\ 49 \\ \underline{49} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 88 \\ 2 \overline{) 176} \\ \underline{16} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 87 \\ 6 \overline{) 522} \\ \underline{48} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

①

$$\begin{array}{r} 7 \\ 8 \overline{) 56} \\ \underline{56} \\ 0 \end{array}$$

②

$$\begin{array}{r} 8 \\ 84 \overline{) 672} \\ \underline{672} \\ 0 \end{array}$$

③

$$\begin{array}{r} 107 \\ 2 \overline{) 214} \\ \underline{2} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

④

$$\begin{array}{r} 479 \\ 2 \overline{) 958} \\ \underline{8} \\ 15 \\ \underline{14} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 29 \\ 22 \overline{) 638} \\ \underline{44} \\ 198 \\ \underline{198} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 7 \\ 28 \overline{) 196} \\ \underline{196} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 4 \\ 34 \overline{) 136} \\ \underline{136} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 416 \\ 2 \overline{) 832} \\ \underline{8} \\ 3 \\ \underline{2} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 8 \\ 51 \overline{) 408} \\ \underline{408} \\ 0 \end{array}$$

①

$$\begin{array}{r} 17 \\ 6 \overline{) 102} \\ \underline{6} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

②

$$\begin{array}{r} 58 \\ 8 \overline{) 464} \\ \underline{40} \\ 64 \\ \underline{64} \\ 0 \end{array}$$

③

$$\begin{array}{r} 2 \\ 38 \overline{) 76} \\ \underline{76} \\ 0 \end{array}$$

④

$$\begin{array}{r} 8 \\ 25 \overline{) 200} \\ \underline{200} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 117 \\ 5 \overline{) 585} \\ \underline{5} \\ 8 \\ \underline{5} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 6 \\ 17 \overline{) 102} \\ \underline{102} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 39 \\ 2 \overline{) 78} \\ \underline{6} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 80 \\ 3 \overline{) 240} \\ \underline{24} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 241 \\ 4 \overline{) 964} \\ \underline{8} \\ 16 \\ \underline{16} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

①

$$\begin{array}{r} 2 \\ 27 \overline{) 54} \\ \underline{54} \\ 0 \end{array}$$

②

$$\begin{array}{r} 2 \\ 18 \overline{) 36} \\ \underline{36} \\ 0 \end{array}$$

③

$$\begin{array}{r} 3 \\ 28 \overline{) 84} \\ \underline{84} \\ 0 \end{array}$$

④

$$\begin{array}{r} 2 \\ 13 \overline{) 26} \\ \underline{26} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 3 \\ 82 \overline{) 246} \\ \underline{246} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 8 \\ 13 \overline{) 104} \\ \underline{104} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 16 \\ 24 \overline{) 384} \\ \underline{24} \\ 144 \\ \underline{144} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 5 \\ 18 \overline{) 90} \\ \underline{90} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 386 \\ 2 \overline{) 772} \\ \underline{6} \\ 17 \\ \underline{16} \\ 12 \\ \underline{12} \\ 0 \end{array}$$